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REEM

SREBISAT  KIRAT {EiEmh
HEF2TH1133-5,1140-1

HERERSIR LB R

WERES AT :2.300 m TYPE

TDER DILhFEFRL

ToELES T = 160 kN/m3
BV —tOBEES Yo = 240 kN/m?®
REHFTE a = 50 kN/m?
HEMBRNE da = 1000 kN/m2
TERE

REER Ka = 0.50

WS NE R Ka = 0.50
FEIORTERA ® = 16.0
ToHER C = 0.0
ERERETOERA(=0) (oFY = 16.0
EREmETDHES(=2/3C) Cg = 0.0
EREEETDOERZREY u = 0.3
BEELREEEDTY A

REER 0 = 0.000

I HETE R 6 = 1.432
WREEKFEEEDTT A B = 0.000
EEEEA

REFAER(=8) 9 = 0.0

IS HEER(=2/30) 9 = 10.7
TEDERAE

REMER(=75) 8¢ = 0.0

WHEER(=06+06) dg = 12.1
HEReEE B B Fy = 15
BEBREE E B Fe = 15
KEDRLEE B Fs = 1.5
A
AU — DR R ERE F. = 21 N/mm?

AV DFBRERENE o, = 7 N/mm?

AUV —bDHBRAMIGHE T, = 070 N/mm?
BmmoiEsE

HFOFRSIRLNE O = 196 N/mm?
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3. MEEH

1. BE
EXxnNEIX
R 1:50
T
b |
| 5 :
4\\ I
r, |
y :
2 1
Wt | BAEE | $AEAN | T-LX | 7oALY | AU | EAUMY
R 4 |Ex&S :
m? kN/m?3 kN/m m m kNm/m kNm/m
1 0.405 24.000 9.720 0.925 0.150 8.991 1.458
2 0.015 24.000 0.360 0.225 0.150 0.081 0.054
T 7N
3 0.050 24.000 1.200 0.217 0.967 0.260 1.160
4 0.460 24000| 11.040 0.100 1.150 1.104 12.696
ER{AEET 22.320 0.468 0.689 10.436 15.368
5 2.700 16.000| 43.200 0.925 1.300 39.960 56.160
Emt
6 0.050 16.000 0.800 0.233 1.633 0.186 1.306
EETEE 44,000 0.912 1.306 40.146 57.466
= E 7.000 0.900 2.300 6.300 16.100
waeEt 73.320 0.776 1.213 56.882 88.934




2. BEITICKBEE
P, :%- Ka 7 o H2 :% x 0.500 X 16.000 X 2.3002 =21.160 kN/m

Pi4=P1*cos & 5=21.160 X 1.000=21.160 kN/m
P1y=P;*sin 8 =21.160 X 0.000=0.000 kN/m

3. REBMEICLDLE
P2 =Ka"q+H=0.500 X ( 5.000—5.000 ) X 2.300=0.000 kN/m
Pon=P2*cos § $=0.000 X 1.000=0.000 kN/m
Poy=P3-sin § $=0.000 X 0.000=0.000 kN/m

4. £
= - T E | $RESH | KESH | T-LAX | T-AY | RET-H b | EREIE-IUH
kN/m kN/m kN/m m m kNm/m kNm/m
BEmttx 21.160|  0000| 21.160 1.600|  0.767 0.000 16.223
ISMEmELE 0.000 0.000 0.000 1.600 1.150 0.000 0.000
a &t 0.000| 21.160 0.000 16.223




4. BEETE

1. BRfBl(Cxt 3 B4R ET
M, =56.882+0.000=56.882 kNm/m

H 2.300

M, :P1H'%+P2H'7:21.160X 2.300

+0.000 X 2

—5—=16.223 kNm/m

2 M=M,—M,=56.882-16.223=40.659 kNm/m
2 V=73.320+0.000=73.320 kN/m

SM_ 40659 _
d=M= 20859 05545 m
d(=05545) > 5 B(-1 600 1600 _45333) oK

QB_/CBE;E]E?'%G)'& SEIICHT HREMIXOK,

2. BEICHT HIRE
2 V=73.320 kN/m
% H=21.160+0.000=21.160 kN/m
V- _ 73.320%0.300

=1.0395 < 1.5 NG

Fs="SH = 21160
M AOLLE15

ERDEE
L=H0-tan( 45°+%E’L) =0.240 X tan53.000°=0.318 m

1 1
00=5+( 01+ 07)=5 %(73.086+56.351
=64.719 kN/m? b
L L
P=0gtan? ( 4552 =64.719 x tan? 53.000 » i
=113.966 kN/m? al lo az/qu
I —

WF%'( ait 0o )'L1+%'( azt+02)-Ly

:l X (87.927+73.086) % 0.282+l X (3.723+56.351) X 1.000=52.740 kN/m

Fe= Wi +P-Ho _ 52.740 X 0.300+113.966 X 0.240
2H

21.160
=2.0403 > 1.5 OK

3. R AT HiREt

:% —d= “;00 ~0.555=0.245 m |
3V 73320 0.245 TELEROEEOEN
0="g (‘iﬁ ) 1600 (‘iﬁx 1,600 ‘
_ q1=87.9267 kN/m? ,
= A e WmE < 100.0 kN/m? OK 1.
B/2 B/2
B




5. BTEDETE

1. =CTEDHE
(1) 1=TEETix
(a) T EDEE
FHEE
1

P :%- Kar 7 ¢*h? =— %X 0.500 X 16.000 X 2.000% =16.000 kN/m

-FEEEDKERS
Pn1=Pa1"cos & s =16.000 X 0.978=15.648 kN/m
-REHETRE
Pa2=Ka*q*h
=0.500 x (5.000—5.000) x 2.000=0.000 kN/m
-FREHAREICKDSILTEDKERS h
Ph2=Pas*cos & ¢ =0.000 x 0.978=0.000 kN/m

(b)ETE N DEE
BIFE—AUR

M:Ph1 '%'h+Ph2 "

B AR
S=Py1 +Pn2=15.6484+0.000=15.648 kN/m

%- h=15.648 X % % 2.000+0.000 x % % 2.000=10.432 kNm/m

(c)TC\jJ n'l'%:

- A%
$RERR D13 SRR @300  SkFBTEIE(A.) 4.223 cm?
- i 37 Bl
_15'A, [ _ 2-b-d
x=— 2 Pa e ( 1+, /150 A, )
 15%4223 2% 100X 18.300 \ _
— 100 H‘/”‘ 54203 ) 4223 om
'Iﬁﬁﬁd)ﬁ?j]r
- _ 2x10.432 x 10°
4023
bexe ( d—=% ) 1oo><4.223x( 18.300——+223— )

=2.9247 N/mm? < 0 ¢a=7 N/mm? OK

18.300—4.223
4223

=146.2534 N/mm? < 0 s, =196 N/mm? OK

%:1 5 x 2.925 X

Os=150 "

15.648 X 10
b-( d__) 100><( 18.300——2223)

=0.0926 N/mm? < T, =0.70 N/mm? OK



2. ERDFE

(2Q)BERUVEHE
. 1350 A
: o
: 2 8
| | N
| —of
| 1 Sl
qz2 =
3.723 kN/m?
q2= )
ar= ,| | 74T70KN/m
87.927 kN/m
5Q 1350
1600
WrERE | BEE | BAM | 7-LX | T-AUb
X n | EXRES
m?2 kN/m3 kN/m m kNm/m
R X 1 0.405 24.000 9.720 0.675 6.561
T 2 2.700 16.000 43.200 0.675| 29.160
REHEHMAE 6.750 0.675 4556
& &t 59.670 40.277




(b) MK ABE A
EHEICKBE—AVE

Mg =g+ (2-qpaz) -L? =% (2X 3.723+74.770) X 1.3507 =24.973 kNm/m
EHEIC KD AN
Sq=g (a7 +az ) *L= X (74.770+3.723) x 1.350=52.983 kN/m

(c)BrmEm D &Et
-HIFE—AF
M=2 My, —M,=40.277—24.973=15.304 kNm/m
- AKTA
S=2 S, —S,=59.670—52.983=6.687 kN/m

(EHEDFHE
- {5 kAR

$%AR12 D13 SkAFREIRR @300  SkARBTETE(A. 4.223 cm?
- th 37 &

e —W+—$g?,;f )

 15X4.223 2x100X23.300 \ _
— 100 H‘/ 142 a3 ) =4.836 om
-HTE DG D E
2-M _ 2 x15.304 x 10°

GC:

bx-( d—%) ) 100 x 4.836 x ( 23.300——*330)

=2.9182 N/mm? < 0 ¢a=7 N/mm? OK

23.300—4.836
4836

=167.1152 N/mm% < 0 s, =196 N/mm? OK

=15X 2918 X

osﬂS-ocvi%;L

_ _ 6.687 X 10
b-(d—%)  100x( 23.300——48% )

=0.0308 N/mm? < T, =0.70 N/mm? OK



3. ZEDFE
(a)BrE D DEFE
HAMD
S=W; * 4t +P+Hg=52.740 X 0.300+113.966 X 0.240
=43.174 kN/m
-BHIFE—AVK

M=S % Ho =43.174 X % x 0.240=3.454 kNm/m

(DIEHEDE
-[EFHS%H

$mZ D13 IR @300 SEETEIEA) 4.223 cm?

o8

e 15 —W+—fg?,;f )

_ 15x4.223 2x100%18.300 \ _
= 100 H‘/”‘ 54203 ) 4223 om
BRE DS IE
2:M 2 X 3.454 x 10°

UC: g

box:(d—%)  100x4.223% 18.300—4‘%¢)

=0.9683 N/mm? < 0 ¢a=7 N/mm? OK

18.300—4.223
4223

=48.4011 N/mm? < 0 ¢, =196 N/mm? OK

=15%0.968 X

osﬂS-ocvi%;L

43.174x 10
b-( d__) 100><( 18.300——2223)

=0.2555 N/mm? < T, =0.70 N/mm? OK

qi




6. ELAMTEizIK (BB )

#ER 1:25
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